Kai Liu; Lianzhong Yang; Xinling Liu Existence of entire solutions of nonlinear difference equations

Czechoslovak Mathematical Journal, Vol. 61 (2011), No. 2, 565-576

Persistent URL: http://dml.cz/dmlcz/141554

Terms of use:

© Institute of Mathematics AS CR, 2011

Institute of Mathematics of the Czech Academy of Sciences provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This document has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* http://dml.cz

EXISTENCE OF ENTIRE SOLUTIONS OF NONLINEAR DIFFERENCE EQUATIONS

KAI LIU, Nanchang, LIANZHONG YANG, Jinan, XINLING LIU, Nanchang

(Received May 15, 2010)

Abstract. In this paper we obtain that there are no transcendental entire solutions with finite order of some nonlinear difference equations of different forms.

Keywords: entire functions, difference equations, finite order

MSC 2010: 30D35, 39B32

1. INTRODUCTION

A meromorphic function means meromorphic in the whole complex plane. Given a meromorphic function f, recall that α is a small function with respect to f if $T(r, \alpha) = S(r, f)$, where S(r, f) is used to denote any quantity satisfying S(r, f) = o(T(r, f)), where $r \to \infty$ outside of a possible exceptional set of finite logarithmic measure. We use the notation $\sigma(f)$ to denote the order of growth of f. We assume that the reader is familiar with standard symbols and fundamental results of Nevanlinna theory [9], [17].

Recently, difference version of Nevanlinna theory has been established [2], [6], [7], [8], [10], including the lemma of difference analogue of logarithmic derivative, difference analogue of the Clunie lemma and the second main theorem in differences, which are good tools in dealing with the value distributions of difference polynomials [11], [12] and with the existence and growth of solutions of complex difference

This work was partially supported by the NNSF (No. 11026110), the NSF of Jiangxi (No. 2010GQS0144) and the YFED of Jiangxi (No. GJJ11043) of China. The second author was supported by the NNSF of China (No. 11041005) and the NSF of Shandong (No. ZR2010AM030).

equations [10], [13], [16]. Yang and Laine [16] considered the existence of the nonlinear differential-difference equation of the form

(1.1)
$$f^n + L(z, f) = h,$$

where L(z, f) is a finite sum of the product of f, derivatives of f and their shifts $f(z + c_j)$ with small meromorphic functions as the coefficients, c_j are nonzero constants, h is an entire function. They obtained some results in [16]. One of them can be stated as follows.

Theorem A [16, Theorem 2.4]. Let P(z), Q(z) be polynomials. Then the nonlinear difference equation

$$f(z)^{2} + P(z)f(z+1) = Q(z)$$

has no transcendental entire solutions of finite order.

Using a proof similar to [16, Theorem 2.4], Yang and Laine pointed out that if the degree of the differential-difference polynomial L(z, f) is less than n and h is a polynomial, then equation (1.1) has no transcendental entire solutions of finite order. In this paper, we mainly investigate the existence of solutions of different types of nonlinear difference equations.

We first investigate solutions of the nonlinear difference equation of the form (1.2), where the special case can be seen as the Fermat type functional equation. We obtain some results that partly answer the following question.

Question. What can we know about the solutions of nonlinear difference equation

(1.2)
$$f(z)^n + q(z)f(z+c_1)f(z+c_2)\dots f(z+c_n) = p(z),$$

where p(z), q(z) are polynomials, c_j , j = 1, 2, ..., n, are constants?

Remark 1. If $p(z) \equiv 0$, then the equation $f(z)^n + q(z)f(z+c_1)f(z+c_2)\dots$ $f(z+c_n) = 0$ may have entire solutions of infinite or finite order. For example, $f(z) = \sin z$ solves the equation $f(z)^n + f(z+\pi)f(z+2\pi)\dots f(z+n\pi) = 0$, where n = 4k+1, $k \in \mathbb{N}$, and $f(z) = e^{e^z}$ solves the equation $f(z)^n - f(z+c_1)f(z+c_2)\dots f(z+c_n) = 0$, where $e^{c_1} + e^{c_2} + \dots + e^{c_n} = n$.

For the existence of transcendental entire solutions of finite order of equation (1.2), we have the following theorem.

Theorem 1.1. Equation (1.2) has no transcendental entire solutions of finite order provided that at least one of c_j satisfies $c_j = 0$, where p(z), q(z) are nonzero polynomials.

Remark 2. If c_j are distinct nonzero constants and $n \leq 2$, then equation (1.2) may have entire solutions of finite order. If n = 1, then $f(z) = e^z + \frac{1}{2}$ solves the equation $f(z) + f(z+c_1) = 1$, where $c_1 = i\pi$. If n = 2, then $f(z) = \sin z$ is a solution of $f(z)^2 + f(z+c_1)f(z+c_2) = 1$, where $c_1 = \frac{1}{2}\pi$, $c_1 = \frac{5}{2}\pi$. But we cannot succeed in finding a transcendental solution of the equation (1.2) when $n \geq 3$.

Next, we will consider zeros of the difference polynomial of $f(z)^n - f(z+c_1) \times f(z+c_2) \dots f(z+c_n)$. First, we give two examples.

Example 1. If $f(z) = e^z$, then the difference polynomial $f(z)^2 - f(z + i\pi) \times f(z + 2i\pi) = 2e^{2z}$ has no zeros.

Example 2. If $f(z) = e^{z} + 1$, then the difference polynomial $f(z)^{2} - f(z + i\pi) \times f(z + 2i\pi) = 2e^{2z} + 2e^{z}$ has infinitely many zeros.

From the above examples, we know that if f(z) is a transcendental entire function of finite order, we cannot definitely say that the difference polynomial $f(z)^n - f(z+c_1)f(z+c_2)\dots f(z+c_n)$ must have infinitely many zeros. But if $\sigma(f) < 1$ and n = 3, we obtain an affirmative result, the main idea being from [3]. Using a method similar to the proof of Theorem 1.2 below, the result can be improved to the case of $n \ge 3$.

Theorem 1.2. Let f(z) be a transcendental entire function with $\sigma(f) < 1$. Then $f(z)^3 - f(z+c_1)f(z+c_2)f(z+c_3)$ where $c_1 + c_2 + c_3 \neq 0$ has infinitely many zeros.

Corollary 1.3. The equation $f(z)^3 - f(z+c_1)f(z+c_2)f(z+c_3) = p(z)$, where $c_1 + c_2 + c_3 \neq 0$ and p(z) is a nonzero polynomial, has no transcendental entire solutions of order less than 1.

The special case of equation (1.2) with $c_j = c, j = 1, 2, ..., n$ and $p(z) = q(z) \equiv 1$, can be viewed as the Fermat type functional equation

(1.3)
$$f(z)^{n} + f(z+c)^{n} = 1.$$

It is well known that equation (1.3) has no transcendental entire solutions when $n \ge 3$, which can be seen in [5]. We will investigate solutions of the difference equation

(1.4)
$$f(z)^{n} + f(z+c)^{m} = a(z),$$

where a(z) is a rational function, which is a completion of [13, Proposition 5.1]. We get the following theorem.

Theorem 1.4. If n(1 - 1/m) > 1, then equation (1.4) has no transcendental entire solutions, if $m \neq n$, then equation (1.4) has no transcendental entire solutions of finite order, where $n, m \in \mathbb{N}$, a(z) is a nonzero rational function.

Remark 3. The equation $f(z)^2 + f(z+c) = a(z)$ may admit an entire solution of infinite order, which can be seen by setting a(z) = 2, $f(z) = -1/e^{e^z} - e^{e^z}$ and $e^c = 2$.

Denote $\Delta f = f(z+c) - f(z)$ and $\Delta^s f = \Delta(\Delta^{s-1}f)$, where $s \in \mathbb{N}$ and c is a nonzero constant. By using a method similar to the proof of Theorem 1.4, we also get the next result.

Theorem 1.5. The equation

(1.5)
$$f(z)^n + (\Delta^s f)^m = a(z)$$

has no transcendental entire solutions if n(1-1/m) > 1, where $n, m, s \in \mathbb{N}$, a(z) is a rational function.

Finally, we consider zeros of the difference polynomial $f(z)^n - \sum_{j=1}^m a_j(z)f(z+c_j) - s(z)$ and obtain the following result, which improves [11, Theorem 1.1 & 1.2].

Theorem 1.6. Let f be a transcendental entire function of finite order σ , let s(z) be a small function of f(z), and let c_j be complex constants. Then the difference polynomial $f(z)^n - \sum_{j=1}^m a_j(z)f(z+c_j) - s(z)$ has infinitely many zeros provided that $n \ge 3$, $\sum_{j=1}^m a_j(z)f(z+c_j) + s(z) \ne 0$ or $n \ge 2$, $s(z) \equiv 0$, $\sum_{j=1}^m a_j(z)f(z+c_j) \ne 0$.

Thus, we can obtain the non-existence of solutions of certain difference equations.

Corollary 1.7. The equation $f(z)^n - \sum_{j=1}^m a_j(z)f(z+c_j) - s(z) = P(z)e^{Q(z)}$ has no transcendental entire solutions of finite order provided that $n \ge 3$, where $a_j(z)$, P(z), Q(z) are nonzero polynomials, unless $\sum_{j=1}^m a_j(z)f(z+c_j) + s(z) \equiv 0$.

2. Some Lemmas

In order to prove Theorem 1.2, we need the following lemma.

Lemma 2.1 ([1], Lemma 3.5). Let f be a transcendental meromorphic function of order $\sigma(f) < 1$, let h > 0 be a constant. Then there exists an ε -set E such that

$$f(z+c) - f(z) = cf'(z)(1+o(1))$$
 as $z \to \infty$ in $\mathbb{C} \setminus E$,

uniformly in c for $|c| \leq h$.

Lemma 2.2 ([9], Theorem 3.1). Let f(z) be an entire function of order σ , and let $\nu(r)$ be the central index of f. Then

$$\sigma = \limsup_{r \to \infty} \frac{\log^+ \nu(r)}{\log r}.$$

The original Clunie lemma was given in [4], and the difference versions of Clunie lemma [6, Corollary 3.3] or [10, Theorem 2.2] will take an important part in proving Theorem 1.4. Here, we only give the following result.

Lemma 2.3 ([6], Corollary 3.3). Let f be a transcendental meromorphic solution with finite order of

$$f^n P(z, f) = Q(z, f),$$

where P(z, f), Q(z, f) are difference polynomials in f and its shifts with small meromorphic coefficients a_{λ} , $\lambda \in I$. If the total degree of Q(z, f) as a polynomial in fand its shifts are $\leq n$, then

$$m(r, P(z, f)) = S(r, f)$$

for all r outside of a possible exceptional set with finite logarithmic measure.

3. Proofs of Theorems

Proof of Theorem 1.1. If n = 1, obviously, the equation (1.2) has no transcendental solutions. Now assume that $n \ge 2$ and f is a transcendental finite order entire solution of equation (1.2). Without loss of generality, let $c_1 = 0$. Then we have

(3.1)
$$q(z)f(z+c_2)f(z+c_3)\dots f(z+c_n) = \frac{p(z)-f(z)^n}{f(z)}.$$

Thus, from [2, Theorem 2.1], we get

$$T(r, f(z+c_2)f(z+c_3)\dots f(z+c_n)) \leq (n-1)T(r, f) + S(r, f).$$

From the Valiron-Mohon'ko theorem [14], we know that

$$T\left(r, \frac{p(z) - f(z)^n}{f(z)}\right) = nT(r, f) + S(r, f).$$

Hence, we get from (3.1) that

$$T(r,f) = S(r,f),$$

which is a contradiction.

Proof of Theorem 1.2. Assume that $f(z)^3 - f(z+c_1)f(z+c_2)f(z+c_3)$ has finitely many zeros. From the Hadamard factorization theorem we get

(3.2)
$$f(z)^3 - f(z+c_1)f(z+c_2)f(z+c_3) = p(z).$$

By Lemma 2.1, we know that there exists an ε -set E, such that $z \to \infty$ in $\mathbb{C} \setminus E$,

(3.3)
$$f(z+c_1) - f(z) = c_1 f'(z)(1+o(1)),$$

(3.4)
$$f(z+c_2) - f(z) = c_2 f'(z)(1+o(1)),$$

(3.5)
$$f(z+c_3) - f(z) = c_3 f'(z)(1+o(1)).$$

By (3.2)-(3.5), we obtain

(3.6)
$$c_1 c_2 c_3 \left(\frac{f'(z)}{f(z)}\right)^2 (1+o(1)) + (c_1 c_2 + c_1 c_3 + c_2 c_3) \frac{f'(z)}{f(z)} (1+o(1)) + (c_1 + c_2 + c_3) = \frac{-p(z)}{f'(z) f(z)^2}.$$

570

From the Wiman-Valiron theory, we see that there exists a subset $F \subset (1, \infty)$ of finite logarithmic measure such that for large $r \notin [0, 1] \cup F \cup E$, for all z satisfying |z| = r and |f(z)| = M(r, f) we have

$$\frac{f'(z)}{f(z)} = \frac{\nu(r)}{z} (1 + o(1)).$$

Thus,

(3.7)
$$c_1 c_2 c_3 \left(\frac{\nu(r)}{z}\right)^2 (1+o(1)) + (c_1 c_2 + c_1 c_3 + c_2 c_3) \frac{\nu(r)}{z} (1+o(1)) + \frac{p(z)z}{\nu(r)f(z)^3} = -(c_1 + c_2 + c_3).$$

Since $\sigma(f) < 1$, and f is a transcendental entire function, then we get

(3.8)
$$\left|\frac{\nu(r)}{z}\right| \to 0, \quad z \to \infty,$$

and

(3.9)
$$\left|\frac{p(z)z}{\nu(r)f(z)^3}\right| = \left|\frac{p(z)r}{\nu(r)M(r,f)^3}\right| \to 0, \quad z \to \infty.$$

Thus, from (3.7)–(3.9) and $c_1 + c_2 + c_3 \neq 0$ we get a contradiction. This completes the proof of Theorem 1.2.

Proof of Theorem 1.4. Assume that f is a transcendental entire function of equation (1.4), then we get

$$nT(r, f(z)) = mT(r, f(z+c)) + S(r, f).$$

Combining the above with the second main theorem yields

$$(3.10) \quad nT(r,f(z)) \leq \overline{N}(r,f(z)) + \overline{N}\left(r,\frac{1}{f(z)}\right) + \overline{N}\left(r,\frac{1}{f(z)^n - a(z)}\right) + S(r,f)$$
$$\leq \overline{N}\left(r,\frac{1}{f(z)}\right) + \overline{N}\left(r,\frac{1}{f(z+c)}\right) + S(r,f)$$
$$\leq \left(1 + \frac{n}{m}\right)T(r,f(z)) + S(r,f).$$

If n(1-1/m) > 1, we get a contradiction from (3.10). Thus, if $n(1-1/m) \leq 1$, then for any positive integers m, n one of the following four cases should be satisfied:

Case 1. m = n = 1. It is easy to give an entire solution of this case, such that $f(z) = z + \sin z$ is a solution of the equation $f(z) + f(z + \pi) = 2z + \pi$.

Case 2. $n \in \mathbb{N} \setminus \{1\}, m = 1$. We get that $f(z)^n + f(z+c) = a(z)$ has no transcendental entire solutions with finite order. Otherwise, using Lemma 2.3, m(r, f) = S(r, f) follows, which contradicts the fact that f is an entire function.

Case 3. $n = 1, m \in \mathbb{N} \setminus \{1\}$. We obtain the same conclusion as that derived from Case 2. Actually, we need to consider the equation $f(z)^m + f(z-c) = a(z-c)$.

Case 4. m = n = 2. In fact, we had investigated this case in [13, Proposition 5.1] and obtained that if the equation

(3.11)
$$f(z)^2 + f(z+c)^2 = b(z)^2$$

has a transcendental entire solution with finite order, then $f(z) = \frac{1}{2}(h_1(z) + h_2(z))$, where $h_1(z+c)/h_1(z) = i$, $h_2(z+c)/h_2(z) = -i$ and $h_1(z)h_2(z) = b(z)^2$, and b(z) is a non-vanishing small entire function of f(z) with period c.

Based on the above result, we will give more details about the properties of the solutions of (3.11). We first consider the solutions of the first order linear difference equation

(3.12)
$$h(z+c) = A(z)h(z),$$

where A(z) is a nonzero rational function. It is well known that the Gamma function is a solution of equation (3.12) provided that c = 1 and $A(z) \equiv z$. If $A(z) \equiv b$ (a constant), then the solutions of equation (3.12) can be written in the form

$$h(z) = b^{z/c} \Pi(z),$$

where $\Pi(z)$ is a periodic function with period c.

In addition, about the growth of solutions of equation (3.12), Whittaker [15] showed that equation (3.12) admits a meromorphic solution f such that $\sigma(A) \leq \sigma(f) \leq \sigma(A) + 1$, provided that A(z) is a finite order meromorphic function. Furthermore, Chiang and Feng [2, Corollary 9.3] showed that equation (3.12) admits a meromorphic solution of order $\sigma(f) = \sigma(A) + 1$, provided that A(z) is an entire function of finite order.

From the above discussion, since f is an entire solution of equation (3.11), its general solutions can be given by

(3.13)
$$f(z) = \frac{1}{2} \left((-i)^{z/c} \Pi_1(z) + i^{z/c} \Pi_2(z) \right)$$

for c-periodic functions $\Pi_1(z)$ and $\Pi_2(z)$ with

(3.14)
$$\Pi_1(z)\Pi_2(z) = b(z)^2.$$

Next, we prove that

$$\{\Pi_1(z), \Pi_2(z)\} = \pm b(z) \times \{e^{2m\pi i z/c + k}, e^{-2m\pi i z/c - k}\}$$

for an integer m and a constant k.

From equation (3.14), a zero of $\Pi_j(z)$ should be a zero of b(z). We note that the finite-order zero-free *c*-periodic entire function can be written in the form $e^{2m\pi i z/c+k}$, so that there are two small *c*-periodic entire functions $b_j(z)$ with $b_1(z)b_2(z) = b(z)^2$, where

$$\Pi_j(z) = b_j(z) e^{(-1)^j (2m\pi i z/c + k)} \quad (j = 1, 2)$$

holds for an integer m and a constant k. This implies that f(z) must be of order at most one, thus b(z), as well as $b_1(z)$ and $b_2(z)$, is a constant.

Proof of Theorem 1.6. If $\sum_{j=1}^{m} a_j(z)f(z+c_j) \equiv 0$ and $s(z) \neq 0$, then the result follows by using the second main theorem. In fact, let $\psi(z) = f(z)^n - s(z)$. Then

$$(3.15) \quad nT(r,f) + S(r,f) = T(r,\psi) \leqslant \overline{N}(r,\psi) + \overline{N}\left(r,\frac{1}{\psi}\right) + \overline{N}\left(r,\frac{1}{\psi+s(z)}\right) + S(r,\psi) \\ \leqslant \overline{N}\left(r,\frac{1}{\psi}\right) + \overline{N}\left(r,\frac{1}{f}\right) + S(r,f).$$

Since $n \ge 3$, we get that $\psi(z)$ has infinitely many zeros.

Consider now the case $\sum_{j=1}^{m} a_j(z)f(z+c_j) \neq 0$, $s(z) \neq 0$ and $\sum_{j=1}^{m} a_j(z)f(z+c_j) + s(z) \neq 0$. Assume that $f(z)^n - \sum_{j=1}^{m} a_j(z)f(z+c_j) - s(z)$ has finitely many zeros. Then from the Hadamard factorization theorem we obtain

(3.16)
$$f(z)^n - \sum_{j=1}^m a_j(z)f(z+c_j) - s(z) = P(z)e^{Q(z)},$$

where P(z) is a nonzero polynomial, Q(z) is a nonconstant polynomial. Otherwise, if $Q(z) \equiv A$, then by Lemma 2.3 we have m(r, f) = S(r, f), which is a contradiction. Differentiating (3.16) and eliminating $e^{Q(z)}$, we obtain

(3.17)
$$f(z)^{n-1} [nf'(z) - f(z)\varphi(z)] = \sum_{j=1}^{m} a'_j(z)f(z+c_j) + \sum_{j=1}^{m} a_j(z)f'(z+c_j) - \varphi(z) \Big[\sum_{j=1}^{m} a_j(z)f(z+c_j) + s(z)\Big] + s'(z),$$

573

where

(3.18)
$$\varphi(z) = \frac{P'(z)}{P(z)} + Q'(z).$$

We infer that $nf'(z) - f(z)\varphi(z) \neq 0$. Otherwise,

(3.19)
$$n\frac{f'(z)}{f(z)} = \frac{P'(z)}{P(z)} + Q'(z).$$

Hence,

(3.20)
$$f(z)^n = P(z)e^{Q(z)+B}$$

for a constant B. If $e^B \neq 1$, from (3.16) we get

(3.21)
$$(1 - e^{-B})f(z)^n - \sum_{j=1}^m a_j(z)f(z+c_j) - s(z) = 0.$$

Combining the above with Lemma 2.3 and $n \ge 3$, we obtain

(3.22)
$$m(r, f) = S(r, f),$$

which is a contradiction. Hence, $e^B = 1$. From (3.21) we get $\sum_{j=1}^m a_j(z)f(z+c_j) + c_j(z)f(z+c_j)$ $s(z) \equiv 0$, which is also a contradiction. Hence, $nf'(z) - f(z)\varphi(z) \neq 0$. Since $n \ge 3$, by using Lemma 2.3 we obtain from (3.17) that

(3.23)
$$m(r, nf'(z) - f(z)\varphi(z)) = S(r, f),$$

and

(3.24)
$$m(r, nf(z)f'(z) - f(z)^2\varphi(z)) = S(r, f).$$

Since f is an entire function, combining (3.23) and (3.24) we get T(r, f) = S(r, f), which is a contradiction.

Suppose now that n = 2 and $s(z) \equiv 0$. Then (3.17) assumes the form

(3.25)
$$f(z)(2f'(z) - \varphi(z)f(z)) = \sum_{j=1}^{m} a'_j(z)f(z+c_j) + \sum_{j=1}^{m} a_j(z)f'(z+c_j) - \varphi(z)\sum_{j=1}^{m} a_j(z)f(z+c_j).$$

574

Similarly to the case $n \ge 3$, we can conclude that $\psi := 2f' - \varphi f \ne 0$. From Lemma 2.3 we have

(3.26)
$$T(r, \psi(z)) = S(r, f).$$

Moreover,

(3.27)
$$m\left(r,\frac{\psi}{f}\right) = m\left(r,2\frac{f'}{f} - \varphi\right) = S(r,f).$$

Differentiating $\psi(z)$, we obtain

$$2f'' - \varphi f' - \varphi' f = \psi' = \frac{\psi'}{\psi}\psi = \frac{\psi'}{\psi}(2f' - \varphi f),$$

and so

$$2f'' - \left(\varphi + 2\frac{\psi'}{\psi}\right)f' - \left(\varphi' - \varphi\frac{\psi'}{\psi}\right)f = 0.$$

This can be written as

(3.28)
$$2\frac{f''}{f} - \left(\varphi + 2\frac{\psi'}{\psi}\right)\frac{f'}{f} - \left(\varphi' - \varphi\frac{\psi'}{\psi}\right) = 0.$$

Suppose z_0 is a zero of f with multiplicity at least 2. Then, by the expression of ψ , z_0 is also a zero of ψ , thus the contribution to N(r, 1/f) is S(r, f). If z_0 is a simple zero of f and $\psi(z_0) \neq 0$, then by virtue of (3.28) and the Taylor expansion of $f(z) = a_1(z-z_0) + a_2(z-z_0)^2 + a_3(z-z_0)^3 + \ldots$, z_0 must be a zero of $\varphi + 2\psi'/\psi - 4a_2/a_1$, hence z_0 makes a contribution of S(r, f) to N(r, 1/f). We get

(3.29)
$$N\left(r,\frac{1}{f}\right) = S(r,f).$$

Hence, combining (3.26), (3.27) and (3.29), we get

(3.30)
$$T\left(r,\frac{\psi}{f}\right) = S(r,f).$$

From the first main theorem, (3.26), (3.30), we know that T(r, f) = S(r, f), which is a contradiction. We have completed the proof.

Acknowledgment. The authors thank Professor K. Tohge for giving some suggestions for the solutions of equation (3.11), and thank the referees for valuable suggestions improving the paper.

References

- W. Bergweiler, J. K. Langley: Zeros of difference of meromorphic functions. Math. Proc. Camb. Philos. Soc. 142 (2007), 133–147.
- [2] Y.-M. Chiang, S.-J. Feng: On the Nevanlinna characteristic of $f(z + \eta)$ and difference equations in the complex plane. Ramanujan. J. 16 (2008), 105–129.
- [3] Z. X. Chen, K. H. Shon: Estimates for the zeros of differences of meromorphic functions. Sci. China, Ser. A 52 (2009), 2447–2458.
- [4] J. Clunie: On integral and meromorphic functions. J. Lond. Math. Soc. 37 (1962), 17–27.
- [5] *F. Gross*: On the equation $f^n + g^n = 1$. Bull. Am. Math. Soc. 72 (1966), 86–88.
- [6] R. G. Halburd, R. J. Korhonen: Difference analogue of the lemma on the logarithmic derivative with applications to difference equations. J. Math. Anal. Appl. 314 (2006), 477–487.
- [7] R. G. Halburd, R. J. Korhonen: Nevanlinna theory for the difference operator. Ann. Acad. Sci. Fenn., Math. 31 (2006), 463–478.
- [8] R. G. Halburd, R. J. Korhonen, K. Tohge: Holomorphic cures with shift-invariant hyperplane preimages.
- [9] I. Laine: Nevanlinna Theory and Complex Differential Equations. Walter de Gruyter, Berlin, 1992.
- [10] I. Laine, C. C. Yang: Clunie theorems for difference and q-difference polynomials. J. Lond. Math. Soc. 76 (2007), 556–566.
- [11] K. Liu, I. Laine: A note on value distribution of difference polynomials. Bull. Aust. Math. Soc. 81 (2010), 353–360.
- [12] K. Liu: Zeros of difference polynomials of meromorphic functions. Result. Math. 57 (2010), 365–376.
- [13] K. Liu: Meromorphic functions sharing a set with applications to difference equations. J. Math. Anal. Appl. 359 (2009), 384–393.
- [14] A. Z. Mohon'ko: The Nevanlinna characteristics of certain meromorphic functions. Teor. Funktsii Funktsional. Anal. i Prilozhen. 14 (1971), 83–87. (In Russian.)
- [15] J. M. Whittaker: Interpolatory Function Theory. Cambridge Tracts in Math. a. Math. Phys. 33. Cambridge University Press, London, 1935.
- [16] C.-C. Yang, I. Laine: On analogies between nonlinear difference and differential equations. Proc. Japan Acad., Ser. A. 86 (2010), 10–14.
- [17] C.-C. Yang, H.-X. Yi: Uniqueness Theory of Meromorphic Functions. Mathematics and its Applications 557. Kluwer Academic Publishers/Science Press, Dordrecht/Beijing, 2003.

Authors' addresses: K. Liu, Department of Mathematics, Nanchang University, Nanchang, Jiangxi, 330031, P. R. China, e-mail: liukai4180126.com; L. Yang, Shandong University, School of Mathematics, Jinan, Shandong, 250100, P. R. China, e-mail: lzyang@sdu. edu.cn; X. Liu, Department of Mathematics, Nanchang University, Nanchang, Jiangxi, 330031, P. R. China, e-mail: sdliuxinling@hotmail.com.